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12

1.0 / 40
p
sin@ [ j ! ’
3/ kg/
/
(S) 40 e 90
1 2
) — erf[ —J erf[ —1ﬂ
: { 7 7
erf(w)
w
o 21
erf(w) \EL n
2
0290
1'
o exp(0.89
X sin®©
exp -2.45
Y P sin®
x Y
( ) 1.5 2.4 0.86 0.16 1.47><
« ) 2.5 5.4 1.03 0.12 0.036
( ) 2.5 1.07 0.71 0.107 0.018
( ) 1.5 4.4 0.86 0.12 0.94%
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exp -3.12

sin®©
(S)
kw/
1.0 /
cos® 2 , 2
3/

erf{ ll—j———i—iJ—é
V1

2

40<=

kg/

3.2%exp -2.8
cos©O
exp -1.61
1Y P cosO
Y 2
() 0.063 6.49
) 0.143 5.24
) 0.143 1.63
( ) 0.063 8.25
(S)
kw/ 2
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0.76exp (-2.76
0.38exp (1.29

5.5exp - 4.3
5.5exp -77.6

kw/ 2
26 30
=2.798 0.595 0.829
1 ppb
1 ppb
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(2)

26 30

[ ]
[ ]
[ ]
[ ]
[
[

1.4892 [
1.4069
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0.0072 0.932
0.0170 0.618
98 ppm
ppm
mg/ 3
mg/ °®
5-2-11
5-2-19(1)
295 70



5-2-19(1)

/
26 461 487
12 452 464
11 169 180
3 133 136
22 362 384
8 322 330
5-2-19(2)
/
1,829 20,260 22,089
960 15,790 16,750
1,836 19,900 21,736
1,188 16,681 17,869
4,029 19,197 23,226
1,452 16,628 18,080

5-2-13(1) (3)
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5-2-14 20 200
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5-2-20

28
30
5-2-21
5-2-20
/  km
40km/h 50km/h 40km/h 50km/h
2.276 2.044 .047 .045
2.570 2.314 .060 .058
1.681 1.513 .039 .037
0.011 0.011 .000 .000
0.013 0.013 .020 .019
0.102 0.103 .006 .006
0.060 0.062 .000 .000
0.468 0.428 .016 .015
1. 28

188




5-2-21

0.03 0.01 0.02
'/ knm 1.99 2.27 3.80
0.010 0.004 0.008
kg/  km 0.337 0.368 0.417
29 30
5-2-15 5-2-16
30
0.021ppm
0.021mg/ 3
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NW
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W 5
s s s
FHgpg= 1. 9m/s Y@= 1. 8m/s k= 1. Tm/s
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HIRSEEE (%) HIHAREE (%) HERFREE (%) HIRFREE (%) HERIREE (%)
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5-2-22

0.00005ppm
98 0.036ppm
5-2-22
m
(ppm) (ppm)
(ppm) 98
m
(ppm) (ppm)
(ppm) | (ppm)
G+ )E + )
0.00005 | 0.00363 | 0.021 |0.02463|0.02468| 0.0188 | 0.035 |,
0.04
0.00002 | 0.00426 | 0.021 |0.02526|0.02528 | 0.0191 | 0.036 |°-06PP™ 0.04ppm
0.00002 | 0.00416 | 0.021 [0.02516|0.02518| 0.0191 | 0.036
30
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5-2-23
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0.000018
mg/ °®
0.048mg/ 3
5-2-23
(mg/ %) | (ng/ *)
(mg/ ) (mg/ %) (mg/ )
(mg/ %) G +)
G +)
0.000018 | 0.000629 | 0.021 | 0.021629 | 0.021647 0.047
0.10
0.000006 | 0.000713 | 0.021 | 0.021713 | 0.021719 0.048 |
0.000008 | 0.000467 | 0.021 | 0.021467 | 0.021475 | 0.047
30
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